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= 28,115
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307 21201 A 84,173 27,409 56,764
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= 43,406
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< 11,387
s 26,569
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< 105,152
s 420,608
301 et A Z 525,760 574,000 A48,240
< 105,152
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12 J|EtE4 = 525,760 574,000 A48,240
o dEd=sg Xl & (782ha)
525,760,000 525,760
< 105,152
[ia 420,608
BIAsiE MFES 8,400 7,600 800
< 2,520
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[ia 5,880
01 At 2teltl 8,400 7,600 800
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< 40,950
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1224 = 184,275 193,050 AB,775
o MBASAS UZHE A
650,000 = 31524 = 90% 184,275
< 40,950
s 143,325
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12 JIEtE 4= 146,250 0 146,250
o MsAsME SR X
650,000 = 25024 = 90% 146,250
2=t s&2 Ml ES 5,870 3,242 2,628
< 1,761
[ia 4,109
307 21201 A 5,870 3,242 2,628
< 1,761
s 4,109
06 2= 5,870 3,242 2,628
o RIsIt =&2 Mol 2& (180ha)
5,870,000 5,870
< 1,761
s 4,109
SI1EHZ2 X 1,966,328 1,966,328 0
= 1,228,955
[ia 737,373
402 RI2HXt20l ™ 1,966,328 1,966, 328 0
= 1,228,955
[ia 737,373
03 212t EF AL HI 1,966,328 1,966,328 0
o RIE HzX 1,600& = 1,228,955% 1,966,328
= 1,228,955
i 737,373
EAMEH K& 809,891 809, 891 0
= 566,923
< 72,890
s 170,078
402 RI2HX=01 M 809,891 809, 891 0
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202 o4dl 4,800 5,760 A 960
01 = LH o4 1l 4,800 5,760 A 960
o JUSEsHF F& 20,0008 « 3H * 80 4,800
307 21201 A 155,000 105,000 50,000
02 B AAHE X 155,000 105,000 50,000
o AtDHR BFAIEZE X
125,000& = 800Z * 50% 50,000
o & FEF3 HHEAY
40,000 = 5,000 * 50% 100,000
o ZAAIL M X 1,000& = 5,0000H 5,000
402 RI2EX=20l M 600,000 500,000 100,000
01 2I2E 2 A B (KR ) 600,000 500,000 100,000
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o WAL X 20,000,000& = 20ha * 50% 200,000
o =EHNI XS
20,000,000& * 20CH * 50% 200,000
== SEOHE 28X 112,000 171,000 A 59,000
< 42,000
e 70,000
307 glz2tol & 112,000 171,000 A 59,000
= 42,000
e 70,000
02 QB HAANEEX 112,000 171,000 A 59,000
o B4 SBUNY 29 N
140,000,000 * 102 + 80% 112,000
< 42,000
e 70,000
Zetd =0t HIJIEGHRA AIE X 29,400 87,080 A 57,680
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i 16,800
402 RIZEX20l A 29,400 87,080 A 57,680
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s 16,800
02 U2 THEALEZ(0IETHR) 29,400 87,080 A 57,680
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= 10,944
< 3,283
s 7,661
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= 350,000
[ia 280,000
402 QI2H X201 M 630,000 0 630,000
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s 280,000
02 QIZIH 2 AL EZ (OIS ) 630,000 0 630,000
o BRE2TSAYM SN
700,000,000& = 104 = 90% 630,000
= 350,000
fia 280,000
g AXH 858 XN&E 300,000 300,000 0
=8 XNAM gAY XA 300,000 300,000 0
402 RI2HXt20l ™ 300,000 300,000 0
01 212t 2 AL E = (REMTH ) 300,000 300,000 0
o =8 NAM g8Mg8 X
150,000,000 * 402 * 50% 300,000
22 84 70,000 254,463 A 184,463
EE2XE E45AY 70,000 200,000 A 130,000
402 RIZEX201 ™ 70,000 200,000 A 130,000
01 2IZEH 2 A B (KM &) 70,000 200,000 A 130,000
o EENZE Hicl®F N
30,000,000& = 4ha * 50% 60,000
o SE&2 FiXsSXNAN4E N
0,000,000& * tha * 50% 10,000
filsitEs N2Rs HMAHAZRS 66,000 66,000 0
= 33,000
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402 It X201 M 66,000 66,000 0
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= 9,900
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02 CIZEXIEAIS EX (0| XM THL) 66,000 66,000 0
o M2ssHHRASAIY X
110,000,000 = 1JHA * 60% 66,000
= 33,000
& 9,900
= 23,100
ShERS 2 3,050,123 2,894,023 156, 100
= 103,757
& 311,183
= 2,635,183
SMHERE 4 2,034,723 1,878,023 156,700
= 89,057
= 289,043
= 1,656,623
SHMNHERS 8 L A XS 347,372 211,372 136,000
201 gBt2Ay| 223,392 99,392 124,000
01 AF 22| H| 173,392 89,392 84,000
o SENME EB(HEMA S)
1,000,000& = 2501 = 43| 100,000
o sSN= EE2 HNE 1,000 = 40,0000H 40,000
o AHe A EZ 7L 2,000,000& = 33 6,000
o XM @A EEES HZE 5008 « 40,0000H 20,000
o REYR =7 I
8,0008 » 78 * 132 7,392
03 Al A H| 50,000 10,000 40,000
o SEAZE AHH A 2,000,000& = 253 50,000
202 044l 7,980 7,980 0
01 2L Y| 7,980 7,980 0]
o RESYR FX 20,000 * 7 = 57 7,980
301 Bt A= 16,000 4,000 12,000
09 SHAIAHI EAZ 16,000 4,000 12,000
o SSM2 MY B AU
200,000& = 4% * 203 16,000
307 2Iz2t0| & 100,000 100,000 0
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< 218,357
e 510,966
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s 8,441
308 MtXIEHMSOIH 715,794 715,794 0
< 214,739
i 501,055
08 WSII 0SS = 715,794 715,794 0
o SNTA WHAsME AR A
715,794,000 715,794
< 214,739
s 501,055
stm24l Non-GMO AITHE X & 45,414 0 45,414
= 13,624
s 31,790
308 MtXIEHSOIH 45,414 0 45,414
= 13,624
s 31,790
08 WSEII20HetE = 45,414 0 45,414
o stug4l Non - GMO &AlTHZE XI& At
45,414,000 45,414
< 13,624
s 31,790
fazs4A KA 595,660 618,256 A 22,596
308 XtXIEHH SOl A 595,660 618,256 A 22,596
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207 A RO H| 56,114 104,820 AN48,706
= 28,057
< 8,417
s 19,640
01 289 56,114 104,820 N48,706
o FAX GAPOIE A 2AAY
56,114,000& 14l 56,114
= 28,057
< 8,417
e 19,640
307 gl & 50,000 0 50,000
= 25,000
< 7,500
fia 17,500
02 RIZFE MM E X 50,000 0 50,000
© GAP OI&S=0tF etdd 2ARXE
50,000,000& * 14l 50,000
= 25,000
= 7,500
e 17,500
SSHEH (s48 B8 NFAY) 72,000 85,000 A 13,000
= 36,000
< 7,200
= 28,800
307 glz2tol & 72,000 85,000 A 13,000
= 36,000
< 7,200
= 28,800
02 RIZFE MM E X 72,000 85,000 A 13,000
o SHE ZSEC EUHXNRA(SSHE)
144,000,000& * 50% 72,000
= 36,000
< 7,200
= 28,800
ZZEC =Eot=sIF ZEMY XA 3,890 3,890 0
< 1,110
= 2,780
307 glz2tol & 3,890 3,890 0
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o S¢tE M2MEd &1
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= 19,200
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402 RI2HXt20l 48,000 42,000 6,000
< 19,200
[ia 28,800
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o s¢2 A H2HED N
6,000,000& = 16 * 50% 48,000
< 19,200
s 28,800
st 2S8dHE ZZH & 150,000 200,000 A 50,000
307 21201 A 150,000 200,000 250,000
02 HAFAAFEX 150,000 200,000 A 50,000
o SHttE BsEdE TN XA
1,000& = 300,0000H * 50% 150,000
FET SE0HE 24d3AY 210,000 210,000 0
307 glz2+ol & 210,000 210,000 0
02 QIZtE M AHEE 210,000 210,000 0
o Fdz SEOANE S4d3Ag 210,000
- OHAHE S 80,000,000& * 14 80,000
- TN ALY 130,000,000& * 1A 130,000
SASOHAE X3 A Y 29,400 24,000 5,400
= 14,700
< 2,940
s 11,760
307 21201 A 29,400 24,000 5,400
= 14,700
< 2,940
[ia 11,760
02 B AAHEX 29,400 24,000 5,400
o s&=2 OHAE XNEAY 29,400,000 29,400
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< 2,940
s 11,760

- 567 -




2N s
M SpERSH
e SAE2RE JlEtXY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
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20,000& 252 500
o #HxA AX ¥ 24| 40,000,000& 40,000
o HM Y 40 42 Iyl
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202 Odl 12,800 10,080 2,720
01 = LH 4 Hi 12,800 10,080 2,720
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01 B 124,083 96, 150 27,933
o Al2HZ224E
10,299& = 299 * 26A|2F = 12€ 93,186
o Al RRIG®S AZe2ReY
10,299) = 4% x 150Al 2 » 5& 30,897
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